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Aa Questons carry equel marks. (Scfmm diagrams must be shown
. wherewer Necessyy. My dats: you- Iad’ missing may -suitably be
assumad snﬂ stated clearly. Units of: quantities u.,ed/cakufatad must
: bestatodchmy) L

U.se o&mgwm suppntlhg matanal ts pmnined dumg examination
;"-.‘(Menr;oned in form No 205) :
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 UNIT - I

| (a) What 1s DBMS? Explain purpose and gozls of DBMS and
- *  also draw the mer':]l stnrcture of DBMS and explain its
various componznts. :

. K
(b) © Define the follo_wx’ng- terms : ‘
- (i) ER modelling
.(i1) Relational data model
- titi) Generalization and specializaticn |
F (w) an.u'y key, superkey and cand:date sny-
| 8
1 (@) Define the following terms : =~
" (@) Referential Integnty apd Data atomlmty
(1) Concept of ER d.tagram B
*(m1). Theory of \Ionnahzam )
(tv) Domain constramta an& &ata modelw [
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UNIT - 11
Mmmm
Book (book-title, mmk-mmm
aﬂlntmnpnhhihu).

Suppose the following functional dependencies exist
book-title  publisher, book-type

book-type: - listprice . .-~ - T N
authorname authdr—aﬂ:'lhatxon s -

@) ___What normal form is t.he relahon in ? Explam your

() Apply normahzatlon until’ you- cannot decompose the

relatlons further ‘State the reasons behmd each

decompomt:on.
®) Explmn follovnng terms i . L =
Lo Phxmcal and.l *ca?%‘lh___dgglagese&% s i
O Data abstracudﬂ, cand - d‘ ependence 8o
(i) - Rel'at:lonal aIgeﬁi‘ﬂ an& R ﬁonal Gnlcﬁ]ﬁa _f
Gv) Primitive and Compomte data types B
o 8
. OR
2 (a) How does Boyce-Codd normal fprm dxﬁ'er from: SNF" Why is

®)

7E4171)

it considered stronger | from 3NF? A]so dlscuss 4NF and 5NF

with smtable example .
g
Define the following terms
Q) Multwalued dependency
(i) Functional dependency
(iii) Second Normal form
(IV) Lossless decomposmon
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() Specify the following gqueries in relational algebra-

-

~UNIT - 111

(a) Let the following relational schema be given :

Employee (SSN, nam'e, age, elno)
Salary (SSN, salary) .

work-oa (project®, SSN)-

project M project_name, location) for each of the

foﬂom( queries give an expression in SQL.

Display the names of projects at “delhi”. .

('n) Find the project-name of employee whose salary is
greater than 10000.

(iii) Retrieve the name and SSN of employees working on
Project# - A100.

- .
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() What do you mean by Query and sub-query? Discuss the

various characteristics of SQL and explain five aggregate
functions with suitable example.

. ‘ . 6
| OR
(ay Explain the following terms :”
® Dynamic SQL
JDBC.
(n) DDL and DNIL
7

Supplier (sid, sname, address)
Part (sid, pname, color)

e Catalog (sid, pid, cost)

() find names of supphe; who supply some red or green

part.
(i) find the sids of suppliers who supply every part.

(1) find the sids of suppliers who supply red and green parts.
' | 9

UNIT - IV

" What do you mean by schedule in the context of concurrent
execution ' of transactions in RDBMS? Discuss physical data
~_orgamzation i sequentaal, indexed, random and Hashed files.

16
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4 What is the difference between inverted and multilist structures?
Also explain organizations of physzcal data i in random, sequential
and indexed files. .
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UNIT - V

What dn you mean _by deadlock? What are t.h Various
muu-mmmmmmm-m
and weund- m s delmel.
8
Define -enalu.blhty Dlﬂ'-muau mﬂu:t and view
senalizability.
; | &

OR

State with examplcs dmnble mﬁ ® mm
What is the system log used for" |

Explain following terms :

() Lock based protocol » -
(1) Dead lock detection and remvery

A i v LA
- o PR T EIR [ 3000 ]
- L. - & 3 v ‘;ll:i ) )
- H T s 1 ¥ ] »

; 8 .
-
L R B
L]



